Martin Knippen #903 - Bid Results

Bid Opening: November 3, 2021 at 10:00 AM

Bidder: Byrne Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$0.45	\$1,640.70
Item #2	Leveling	3,646	LF	\$0.10	\$364.60
Item #3	Clearing & piling brush	1	Lump	\$0.00	\$0.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$200.00	\$200.00
	Mark Miller Field Drive	1	Lump	\$200.00	\$200.00
	State Route 634	1	Lump	\$600.00	\$600.00
			Total Amount: \$3,005		\$3,005.30

Bidder: Steve Kahle Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$0.70	\$2,552.20
Item #2	Leveling	3,646	LF	\$0.05	\$182.30
Item #3	Clearing & piling brush	1	Lump	\$600.00	\$600.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$300.00	\$300.00
	Mark Miller Field Drive	1	Lump	\$300.00	\$300.00
	State Route 634	1	Lump	\$200.00	\$200.00
			Total Amount: \$4.13		\$4,134,50

Bidder: Advanced Excavating & Demolition

		Enderthing of Bomordon			
		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$0.37	\$1,349.02
Item #2	Leveling	3,646	LF	\$0.25	\$911.50
Item #3	Clearing & piling brush	1	Lump	\$200.00	\$200.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$200.00	\$200.00
	Mark Miller Field Drive	1	Lump	\$200.00	\$200.00
	State Route 634	1	Lump	\$600.00	\$600.00
			Total Amount: \$3.46		

Bidder: J & M Excavating, Inc.

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$1.15	\$4,192.90
Item #2	Leveling	3,646	LF	\$0.10	\$364.60
Item #3	Clearing & piling brush	1	Lump	\$350.00	\$350.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$150.00	\$150.00

				\$5,857.50
State Route 634	1	Lump	\$600.00	\$600.00
Mark Miller Field Drive	1	Lump	\$200.00	\$200.00

Bidder: Sand Ridge Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$0.70	\$2,552.20
Item #2	Leveling	3,646	LF	\$0.40	\$1,458.40
Item #3	Clearing & piling brush	1	Lump	\$800.00	\$800.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$400.00	\$400.00
	Mark Miller Field Drive	1	Lump	\$400.00	\$400.00
	State Route 634	1	Lump	\$800.00	\$800.00
			Total Amount: \$6,410.		\$6,410.60

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	3,646	LF	\$1.97	\$7,182.62
Item #2	Leveling	3,646	LF	\$0.88	\$3,208.48
Item #3	Clearing & piling brush	1	Lump	\$1,000.00	\$1,000.00
Item #4	Pipe Cleanings:				
	Carl Wannemacher Field Drive	1	Lump	\$1,426.00	\$1,426.00
	Mark Miller Field Drive	1	Lump	\$1,426.00	\$1,426.00
	State Route 634	1	Lump	\$1,840.00	\$1,840.00
			Total Amount: \$16,083		\$16,083.10

Eugene Riepenhoff #891 - Bid Results

Bid Opening: November 3, 2021 at 10:00 AM

Bidder: Byrne Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	9,277	LF	\$0.45	\$4,174.65
Item #2	Leveling	9,277	LF	\$0.10	\$927.70
Item #3	Clearing & piling brush	1	Lump	\$1,000.00	\$1,000.00
Item #4	Pipe Cleanings:				
	Roy Niese House Drive	1	Lump	\$600.00	\$600.00
	State Route 108	1	Lump	\$500.00	\$500.00
	Township Road 13	1	Lump	\$400.00	\$400.00
Item #5	Log Jam Removal	1	Lump	\$1,500.00	\$1,500.00
			Total Amount: \$9,10		\$9,102.35

Bidder: Steve Kahle Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	9,277	LF	\$0.60	\$5,566.20
Item #2	Leveling	9,277	LF	\$0.05	\$463.85
Item #3	Clearing & piling brush	1	Lump	\$500.00	\$500.00
Item #4	Pipe Cleanings:				
	Roy Niese House Drive	1	Lump	\$500.00	\$500.00
	State Route 108	1	Lump	\$300.00	\$300.00
	Township Road 13	1	Lump	\$300.00	\$300.00
Item #5	Log Jam Removal	1	Lump	\$1,500.00	\$1,500.00
			Total Amount: \$9.13		

Bidder: Advanced Excavating & Demolition

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	9,277	LF	\$0.40	\$3,710.80
Item #2	Leveling	9,277	LF	\$0.30	\$2,783.10
Item #3	Clearing & piling brush	1	Lump	\$1,500.00	\$1,500.00
Item #4	Pipe Cleanings:				
	Roy Niese House Drive	1	Lump	\$400.00	\$400.00
	State Route 108	1	Lump	\$700.00	\$700.00
	Township Road 13	1	Lump	\$250.00	\$250.00
Item #5	Log Jam Removal	1	Lump	\$2,500.00	\$2,500.00
			Total Amount: \$11.8		

Bidder: Sand Ridge Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	9,277	LF	\$0.70	\$6,493.90
Item #2	Leveling	9,277	LF	\$0.40	\$3,710.80

			Total Amount:		\$15,004.70
Item #5	Log Jam Removal	1	Lump	\$2,000.00	\$2,000.00
	Township Road 13	1	Lump	\$400.00	\$400.00
	State Route 108	1	Lump	\$800.00	\$800.00
	Roy Niese House Drive	1	Lump	\$800.00	\$800.00
Item #4	Pipe Cleanings:				
Item #3	Clearing & piling brush	1	Lump	\$800.00	\$800.00

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	9,277	LF	\$1.90	\$17,626.30
Item #2	Leveling	9,277	LF	\$0.72	\$6,679.44
Item #3	Clearing & piling brush	1	Lump	\$12,500.00	\$12,500.00
Item #4	Pipe Cleanings:				
	Roy Niese House Drive	1	Lump	\$1,920.00	\$1,920.00
	State Route 108	1	Lump	\$1,920.00	\$1,920.00
	Township Road 13	1	Lump	\$1,488.00	\$1,488.00
Item #5	Log Jam Removal	1	Lump	\$6,500.00	\$6,500.00
			To	tal Amount:	\$48.633.74

Earl Burkhart #679 - Bid Results

Bid Opening: November 3, 2021 at 10:00 AM

Bidder: Byrne Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.45	\$4,600.80
Item #2	Leveling	10,224	LF	\$0.10	\$1,022.40
Item #3	Clearing & piling brush	1	Lump	\$1,500.00	\$1,500.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$300.00	\$300.00
	MJSK Field Drive	1	Lump	\$300.00	\$300.00
	MJSK Field Drive	1	Lump	\$350.00	\$350.00
	Therese Niese Field Drive	1	Lump	\$250.00	\$250.00
	Richard Wenzinger House Drive	1	Lump	\$300.00	\$300.00
	Township Road 16	1	Lump	\$300.00	\$300.00
	Richard Dobmeyer House Drive	1	Lump	\$1,000.00	\$1,000.00
			Total Amount: \$9,		\$9,923.20

Bidder: Steve Kahle Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.70	\$7,156.80
Item #2	Leveling	10,224	LF	\$0.05	\$511.20
Item #3	Clearing & piling brush	1	Lump	\$500.00	\$500.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$300.00	\$300.00
	MJSK Field Drive	1	Lump	\$150.00	\$150.00
	MJSK Field Drive	1	Lump	\$150.00	\$150.00
	Therese Niese Field Drive	1	Lump	\$150.00	\$150.00
	Richard Wenzinger House Drive	1	Lump	\$150.00	\$150.00
	Township Road 16	1	Lump	\$150.00	\$150.00
	Richard Dobmeyer House Drive	1	Lump	\$1,500.00	\$1,500.00
			To	tal Amount:	\$10,718.00

Bidder: Advanced Excavating & Demolition

16		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.40	\$4,089.60
Item #2	Leveling	10,224	LF	\$0.24	\$2,453.76
Item #3	Clearing & piling brush	1	Lump	\$200.00	\$200.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$200.00	\$200.00
	MJSK Field Drive	1	Lump	\$250.00	\$250.00
	MJSK Field Drive	1	Lump	\$250.00	\$250.00
	Therese Niese Field Drive	1	Lump	\$250.00	\$250.00
	Richard Wenzinger House Drive	1	Lump	\$250.00	\$250.00

-		Total Amount:		\$9,193.36
Richard Dobmeyer House Drive	1	Lump	\$1,000.00	\$1,000.00
Township Road 16	1	Lump	\$250.00	\$250.00

Bidder: Jim Phillips Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.55	\$5,623.20
Item #2	Leveling	10,224	LF	\$0.38	\$3,885.12
Item #3	Clearing & piling brush	1	Lump	\$1,000.00	\$1,000.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$85.00	\$85.00
	MJSK Field Drive	1	Lump	\$88.00	\$88.00
	MJSK Field Drive	1	Lump	\$88.00	\$88.00
	Therese Niese Field Drive	1	Lump	\$78.00	\$78.00
	Richard Wenzinger House Drive	1	Lump	\$78.00	\$78.00
	Township Road 16	1	Lump	\$80.00	\$80.00
	Richard Dobmeyer House Drive	1	Lump	\$900.00	\$900.00
			To	tal Amount:	\$11.905.32

Bidder: Sand Ridge Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.70	\$7,156.80
Item #2	Leveling	10,224	LF	\$0.40	\$4,089.60
Item #3	Clearing & piling brush	1	Lump	\$1,500.00	\$1,500.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$400.00	\$400.00
	MJSK Field Drive	1	Lump	\$400.00	\$400.00
	MJSK Field Drive	1	Lump	\$400.00	\$400.00
	Therese Niese Field Drive	1	Lump	\$400.00	\$400.00
	Richard Wenzinger House Drive	1	Lump	\$400.00	\$400.00
	Township Road 16	1	Lump	\$400.00	\$400.00
	Richard Dobmeyer House Drive	1	Lump	\$1,500.00	\$1,500.00
			To	tal Amount:	\$16,646,40

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$1.68	\$17,176.32
Item #2	Leveling	10,224	LF	\$0.60	\$6,134.40
Item #3	Clearing & piling brush	1	Lump	\$1,000.00	\$1,000.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$1,426.00	\$1,426.00
	MJSK Field Drive	1	Lump	\$1,426.00	\$1,426.00
	MJSK Field Drive	1	Lump	\$1,426.00	\$1,426.00

		Total Amount: \$36,489.		\$36,489.22
Richard Dobmeyer House Drive	1	Lump	\$3,622.50	\$3,622.50
Township Road 16	1	Lump	\$1,426.00	\$1,426.00
Richard Wenzinger House Drive	1	Lump	\$1,426.00	\$1,426.00
Therese Niese Field Drive	1	Lump	\$1,426.00	\$1,426.00

Bidder: NWO Property Services

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	10,224	LF	\$0.51	\$5,214.24
Item #2	Leveling	10,224	LF	\$0.18	\$1,840.32
Item #3	Clearing & piling brush	1	Lump	\$750.00	\$750.00
Item #4	Pipe Cleanings:				
	Township Road 17	1	Lump	\$175.00	\$175.00
	MJSK Field Drive	1	Lump	\$200.00	\$200.00
	MJSK Field Drive	1	Lump	\$200.00	\$200.00
	Therese Niese Field Drive	1	Lump	\$150.00	\$150.00
	Richard Wenzinger House Drive	1	Lump	\$150.00	\$150.00
	Township Road 16	1	Lump	\$275.00	\$275.00
	Richard Dobmeyer House Drive	1	Lump	\$2,100.00	\$2,100.00
			To	tal Amount:	\$11.054.56

Robert Beining #666 - Bid Results

Bid Opening: November 3, 2021 at 10:00 AM

Bidder: Byrne Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$0.45	\$3,753.00
Item #2	Leveling	8,340	LF	\$0.05	\$417.00
Item #3	Clearing & piling brush	1	Lump	\$0.00	\$0.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$200.00	\$200.00
	Leonard Hilvers Field Drive	1	Lump	\$200.00	\$200.00
	Township Road P	1	Lump	\$200.00	\$200.00
			Total Amount: \$4,77		\$4,770.00

Bidder: NWO Property Services

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$0.43	\$3,586.20
Item #2	Leveling	8,340	LF	\$0.15	\$1,251.00
Item #3	Clearing & piling brush	1	Lump	\$250.00	\$250.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$350.00	\$350.00
	Leonard Hilvers Field Drive	1	Lump	\$300.00	\$300.00
	Township Road P	1	Lump	\$275.00	\$275.00
			To	tal Amount:	\$6.012.20

Bidder: Advanced Excavating & Demolition

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$0.35	\$2,919.00
Item #2	Leveling	8,340	LF	\$0.25	\$2,085.00
Item #3	Clearing & piling brush	1	Lump	\$200.00	\$200.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$300.00	\$300.00
	Leonard Hilvers Field Drive	1	Lump	\$300.00	\$300.00
	Township Road P	11	Lump	\$300.00	\$300.00
			Total Amount:		\$6,104.00

Bidder: J & M Excavating, Inc.

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$0.99	\$8,256.60
Item #2	Leveling	8,340	LF	\$0.10	\$834.00
Item #3	Clearing & piling brush	1	Lump	\$300.00	\$300.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$350.00	\$350.00

		Total Amount:		\$10,340.60
Township Road P	1	Lump	\$300.00	\$300.00
Leonard Hilvers Field Drive	1	Lump	\$300.00	\$300.00

Bidder: Jim Phillips Excavating

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$0.64	\$5,337.60
Item #2	Leveling	8,340	LF	\$0.40	\$3,336.00
Item #3	Clearing & piling brush	1	Lump	\$1,500.00	\$1,500.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$85.00	\$85.00
	Leonard Hilvers Field Drive	1	Lump	\$86.00	\$86.00
	Township Road P	1	Lump	\$80.00	\$80.00
			Total Amount: \$10,424		\$10,424.60

		Qty.	Unit	Unit Price	Total
Item #1	Excavation	8,340	LF	\$2.00	\$16,680.00
Item #2	Leveling	8,340	LF	\$0.77	\$6,421.80
Item #3	Clearing & piling brush	1	Lump	\$2,200.00	\$2,200.00
Item #4	Pipe Cleanings:				
	Township Road O	1	Lump	\$1,426.00	\$1,426.00
	Leonard Hilvers Field Drive	1	Lump	\$1,426.00	\$1,426.00
	Township Road P	1	Lump	\$1,426.00	\$1,426.00
			Total Amount: \$29		\$29,579.80